1. Tvwe
A %_M__% o) = ’ﬂ:\lu)‘
Chdon Polm }oor;‘n)-r
0
, Vool (/)
i R ki [Pl se
,@.chybqu.Lm—%‘ 0P _Lin Lothy pr defndent—
/\()u)/(,.-\h_;m_,'@ N (hogt &2
3,  Terwe
Axz0 & ‘nnmw.u
X=0
Yo Tewe
~V =z (-DV
S Truw
\7 U= )
V= = (u-v) ¥ y
oy s
6. True
A s b linwers, mdependest— columns
Voale (AYZ Y
A ey Y lincah, (ndepeadent 1S
2 Falec

1

(,D\‘SP/A) z 3'{)6\4 of e columnn Vel s

divn (080 AYY 7 Yenlk (A <3




~ ¥ Tru
| dek (A)= O z A - Aoes nok
Ji NENE = (DN&)
| A OVE D A i pob fud venk
5 2 coumn W Are "39_1’
| If‘r\wly_wmdep}—
| T )
| N
L & "\ Cank [A)z 'fl}\hlq_(/‘]’T)
- L sy - @ r <A T S
f= |22 3|9 ATz] |2 g |
RN 05\
! '-"x,./l Z ”’ ]
o= 1 |
| =0 O,.——-\
1
|
19, Fase
| T2 A ey FP=0
| =) Fhen grnks K S Ax*"‘o
Lr : Ax = T X e p8sotiaed
| | 7 A henve o re
r | T=0 v
% | D dimn (R (A)) >0
- | = A s npt Bdl vank
D ok javeh bl




A
| & False
%,Lg m,yCL LoaSuler
A= \"_ l OO X 0"\ Mugonahizebl
C? 0 e ) \ [CLJ' ot
| 0 - o % '__\‘ }f)UEJ‘J\M
A U not Aul
[Pk
10 Fals< Ael2"”"

w M EINK PG s
~ U

n !;,\_&&rlj 'n d.ﬂ-{)bnd&n‘f ‘@;?M\MJ Hors

A F‘V .414"“‘5,-nm{f.¢{‘>,f~?\,-m«4

VPR eYL .Y Vo m«,n}zhlf)lzu}\j

)

= olgeopic mulhplic

ol elgenvalues




Set

113, ?g_lb
| | ~ - m—’* n - in
A EN Colsp (D€
J! I('/; Falu,
% (/O.'.‘ (MI',UG; on lgghk 2 1; NA{L\]»\ Wal rﬁ.l,.g.bnf%r
|
|

I_P £ \r'g’ f\()" E\'Avu Lanla At P ‘h‘\x_

LE )

w2 lbunan M e e ’L@ﬂr/hj

L

-gu'a&nripm+
LY Trwe
| e A1 ln\wlf;m JThen g
| (elmn  \edort  are HMA/L.} ;angynAAM..qaL
and et ape Wik in RD
5 his gaes ul_a bases
1 'mrv,u_
V\;Llr(,A'\) i@ Set off ophl X C )k,
Az — bt Lo Qaelon
locn B
[ ow @%NVMM?' Mot )
= 7
f~15
Ly =0 GRS US s AN ow Lo
A x=0
[7, Euhy
| J"LA_D g}hhl‘!ﬁ\f Aneda ws howe 1y SGne
//i@-b.n \ eadaae.§

A - PDP-) A ¢ Similer ko D
=




Q(‘Q'),Qd\‘on ) Best f*ﬁJPNﬂ?mc\H‘m Theore m / (9
Lepst - SgUaIrs

g

Find  4ne dosest  point ko Yy

in  the S\Alaﬁrr)m; },ﬂanmd Q:, \/. anch U?/

AT an T
Yz | \

) \
A

JWbe ek V, Vv, = O

ﬂ'\(, doses } 'O‘?;\m— o T W’;gapmévnf\,é_'ﬁ

‘:g ./)m:\pvl = v
T A -7
A N
3‘1 U l"’/l 4 9"\/7.\11
\_/l"\lg \)7_'V>
o3y v, g (MUY,
o - 1} e
CLtY+1r49) Clo 1)
- /QZ_\'ﬁ I /{\"'\1
(/0/"2\+§3, |
121 gl
% L 2




P e W A
1 e — g0 \
=% <
EA: 51 — Y rf © W }nran‘SfJMj-
' O 1,0 |
W T \
Bl a
e e

Lo A ¥ = iy ,9’4&;4010:0
; A &
T QL sk AR=Y y o
A - 2,
X= \ To
B
—
(2

E nod__ o ch/, P>y 9 on 24 LJ 4028 L5 Siea,

Q= (aTaY ATy =l T
e ’ iy \
A ,
[‘r,/% i3 om]tf e Ll
LI ——Colaanand o A ore
!IMC/L\J.. lﬂgLﬂ.’AJ,,nr)(L-ﬁ)f‘
= Unigue  Lecsi-Square
Jo LuMm
ATA 1 Lo

Ve




LJ"\CJ« 15 \nJ L

Lok W2 cosp (A)

Sowe ATy =0

ST

) BN 53\“2\-ZL0J
| |
L7

r;«z—\l]

o = -9 4\

L. —

ree ariableg X‘J / Ay
f'/;l 1 Q&J"\ ';!‘ 0




pr{) Uaite (:Luu’ shHonS

Q50
T - 32.089 K oa eigemualee o A
| (A -vDYX =0
| vl
| M
| iF M0 e hat nonere Solubon
> dim (8 bar(/N)) >0
| 2 M |hay a&%&n velie  Llnal
L0
= gu(myz xf gt =0

dak (A-TD = 0O
Ak (-~ Z O

z ) D F =0

o




/f')y\/\_ oty NLA mA"l;_m:s

=z 2rc _l:__c_,
| =& T \t ¢

S L 7% WV 6 ) W 4 5D,
L=C (e Citt)  Ci-¢)

| =20 =

L)

le(zy=5  Lo(dy- L
p A

| A7t )
I il I
i3
| C=Tly I

SEE ret® V"Z\}'Rglf’%?'

o [ )T
| Ve P
| i
=\ Lk =\ %% &
| B
i —r
| o 2
L




ol
N
5
iy
S

L
O

flo (27 = 24 T.(2™) =O
Flad 2 e > 2 bk .
o qufzjﬂz)\ e
(o = / \jE \ ')—-(& IJ ?LzD
\ 2 ) | [ =)

' L2z) ¢
e ) h=0
=z

( =& e/

<ol s . ] vIE]
Two v S . {\}__’_2:_)”” éil’/‘z ) %; e(, / i
2
k= | TN SN '




k2

R



